No.1

FSwY - TA—IVRTEE - B3R - BREE - RE - HBRE

Mty BER :—F\W pas  B2E FEFD2-TEREIBREFERS =— ]| 23310003 | #HE &M EILE X2 FH B

B biley —REEEN BRELREHS Fiie RFMERLE LIRS =— | 312030 e RE i

. V-2 | AR ] wiEE 4 —m W] BEEREA —pm |ME] BEEE A —m ] BEREA =g (] BEEE 4 =pm [WE] BEEEA =g (] BB 4 e |ME] BEECE A =g

A fEH 5 4 L {\/ , k2 I e K v L, FERE I LR, ALgR i L FERE v L, Rk I L, ERE o - Rk

05/13| R FTERF | RES AR 8 1] 12.78 [[2[mnE B 13.69 || 3]ixE #W4%E 13.74 (4B B&%E 14.03 |[5|WWT =% 14.08 |[ 6| E 1] 14.23 FH HFE 1| 14.32 |[8|AL FRE 1| 14.57
100m -2.0 [{Ed SEEH X = il ISEEL SRR £

05/13 |2 BF | REF 1% EXRER 2| 11.75 | 2|uO f&#& 12.04 [[3|&FR 1&& 12.46 ||4|Z=E RiE 12.59 |5 |#& 1&A 12.63 |[6|HO EX 2| 12.75 |[7[/hR  FN 2| 12.80 e 18R 2| XH&FS
100m 2.0 [SXKES s dedn EAd e EX=k Rigd SERE =L

05/13|hFE3FEBF | REF 1% W|A 3] 11.79 [[2[dtE 38 11.98 ||3|#R Kt 12.01 [4|Ep RF 12.18 |5 |&# B2 12.22 |[6]|&3% EA 3| 12.31 |[7|FL =t 3| 12.46 | 8| ZHRiG 3| 12.51
100m 0.5 [EEFEd E&H bl AFxd A XX EEfEt KYEHy

05/13|hF B F R 1]%& X 3] 55.35 [[2[lLA == 57.50 |[3|HIR 3 57.81 [[4|tk1A XH 58.27 |[5|Af |X 59.81 |6 [WLR EBIE 3| 1:00.43[7|B@% ¥Ath 3| 1:02.56( 8|#A BE 3[1:07.09
400m A S+ A =2 Al J\BEHn BE8H e

05/13| 2B F 201D T|XEARFLE 3(2:05.80(2|&EmM = 2:11.26| 3 [fa A& fE 2:13.76( 4| &+ i 2:15.88] 5 H[ﬂ PN 2:19. 09/ 6 [#& B 3|2:23.52(| 7|/ J$4%& 3[2:23.85(8[iFE (B 3[2:28.70
800m KFd st AXH b E2E L EEE o AR e b ddan

05/13|FFTERF | RE 1|&H 8 1[4:31. 77| 2 [/pBNI A 4:55. 28| 3| MR FE 5:00.95[(4|hH BZE 5:05. 71 5 FEXE 5:06.17(|6 [BrA 3k 1]5:08. 14| 7[#KR #Ewe 1]5:24.09(|8|EMA X 1]5:25.57
1500m A A3 peirdn ALlpE L 5 %LMIE AEET DR e

05/13|ch %235 B F | swown 1[BEERERNEE 3|4:21.95(2|&M/M = 4:22.16| 3 [4EIE fEK 4:22.60( 4|48k EM 4:24. 25| 5[ ZEA 4:28. 28| 6 | =% i 2]4:31.69( 7 [hE fn 2|4:41.68(|8|FE HIE 2]4:44.20
1500m Jdedn AXd JAGEL: 5 (=L j5 i e SAMES SEEEH

05/13|RZEBF Py 1[#LmeRER 3]9:31.37( 2 |#&W & 9:31. 78| 3[R K— 9:34.99[(4|IuA  BB{= 9:42.12| 5| =t 9:53.94[(6 |30 ;K 2|9:56.51| 7|5 & 3]10:16.88[ 8| 1Li# %KkE 2[10:34.34
3000m J\EEch Axd g J\BEdh ZEUED AR E2EIL Hilid

05/13|HF B F R 1|@mE Ei 3| 15.77 |[2|&fR Kig 16.87 || 3|mEHBEA T6.93 4] =L =8 16.96 | 5]/hs ZEX 17.36 ||6]|Luwe BN 3] 17.93 [[7[#EREDLER 3| 18.35
110mH[0. 914m/9. 141 0.0f |s[deep J\g&rh 5 =i 5% J\EEh a4k eh

05/13|pE B F 1B EXE 3| m73 ||2|A4F EX me3 |[3|%HA =HAE mb5 [[4[AAX [E% 1mb0
E= Bk J\EE J\BEdh e RS

05/13|FE B F 1|BRE =B 3| 3mi0 (|2|FEE B 3ml0 || 3|AWL ER 2m50 [[4|EHF BEF 2m30
R L% % A A5

05/13|FBF 1|=8 BIE 3| 6m07 [2]de BR 5m99 (13| FH #3} m28 [[4|£R EBR 5mi4 |5 |mMEBEL 5m09 |[6|RER *L&E 3| 4m98 [ 7|#H IXA 2| 4m96 (8|FEH - 3| 4m/b
SEIEBE e — +0. 6 & +1.4 J\BE +0. 8 =ik +0.5 B +1.6 BHEE +1.3 = H=tilas +0. 6 J\BEth +2.0

05/13|FHF B+ 1|EHe ZXE 3] wm28 |[2|f@EHE ke mo6 (|3|FE EE 8mbd |[4|HF KiE mée [5]== 7 m02 [[6|ixE BEAE 2| 6m/7 [ 7|MHE EA 3| 6md7 [ 8[#E {EK 3| 6md4
fa 3% (5. Ok J\EEch Higd ey ER AR i ALl £k EOd

05/13 |58 Fmiz TR RE 3| 21328 || 2[#EH KB 1516m [3[B" KX* 14131 4|8 2/ 131BR [|5|&k WA 1307 [|6]J1BF FZ 2] 11731 [Tk Z&— 2| 831= [|8|ms Mt 2| 829=
miBEE L i ST = = SERES EXd EXT Eidbt

05/13 | 55 F IU#E | RIS 1A fE 3| 16.10 | 2|&E% WA 18.14 || 3[#EH XE 19.43 [4]INE &= 19.64 | 5|B% XH 20.63 |[6 AR 4/N 3| 21.33 || 7|4 &— 2| 21.61 [|8|m4t M 2| 21.81
110mH[0. 914m/9. 141+0. 4 |3 EHE Bt = _ Sl EAd SRS

05/13 |55 FmiE 1A fRE 3] 10m28 |[2]HE KA am6d [ 3[FIR F /N 8m68 [ 4|HEH XZE 6m97 |[5[JIE HE 6m80 |6 At ph#w 2| 6m74 | 7|{E@E &B— 2| 5m37 (8 A 1| bm24
Fa A% (4. Ok N St Sided S EAd SEdbd EAG SEEd

05/13 | 5B FmiE HEEIEINEIEEEN BEETE N m49 | 3[R IR&E md9 |4 [fEH K2 1m46 |5 [mh# R md0 [[6[N1& FT 2| 1m37 |[7(B% K& 3| 1m34 |[8|kE& Z— 2| 1m28
Eo Bk Sk S N S Sidte EAH Sindts EAd

05/13| R 5 FIUFE | R TR FRE 3| 56.83 |[2[HEH KB 58.83 |[3 A% X% 61.28 [[4|@TR #/\ 62.47 |[5|&X WA 66.86 [[6|JIIER F=& 2| 6/.17 [[1[#E%E Z&— 2| 69.44 A i 2
400m B SWEH SHdten St % EAd EAG SEded

05/13 |1 FEXF | REF 1|28 & 1| 14.00 |28 =8 14.02 || 3L 45E 14.49 4| Y Z 14.98 || 5|FEA &N 15.03 |16 |@&R E¥ 1] 15.11 [[7[R&ANIEHL 1| 15.26 [|8|@AX ¥ 1| 15.26
100m -0. 9] |KRCNext BEES Fxh y=N=Ai S HETC KRCNext =L

05/13| R E2FE T | REF 1[5t BTE 2] 13.44 [[2[ElL A 14.07 || 3[LBRA#V A 1417 ||4]788 XR 14.28 |5 |RTF =1 14.29 ([6]|gas DF8 2] 14.34 [[7T[lLARDLEF 2| 14.57
100m 1.2 [KFdestdn DN bl FEOd B EE dAdedn Axd

05/13|FEIFELF | PRI 1lfg@B &7 3| 13.33 || 2|WH %EE 13.56 ||3[:I& =% 13.91 [[4]H L F& 14.02 |5 |[iELE #F 14.41 |6 |RZF0VOMY 3| 14.63
100m —0.6( [adken s deen ji Ao A% AR

05/13| %+ R 1[H#LE R 3| 28.67 ||2|URAHAVA 28.88 | 3[#E0 HEA& 29.33 [[4|&EZEUVDAY 29.57 |[5[ILRDLF 29.64 [|6|ME A2k 2| 29.87 ||[7|BH FiE 3| 30.65 |[8[HE ER 2| 32.23
200m 0.0 il S eh B0 SR K EOd 84 Kilicdh

05/13|FRFTFELF |=eows T[4Ef ZE¥ 12:37.39| 2 |f&EH HO1]2:41. 01 3[#L BEE:E 2:41.07[4[&N HE 1[2:45.00(5(&0 ZEEH 2:45. 61| 6 [RIA FA 1[2:45.82||7|EW9g AN 1)2:50.94| 8 [#&FH FHxE 1[2:51.33
800m EOH KY S HR il 1] KY S HR =2 il KY & By

05/13|ch 52 35 & F | smown T|E8 BF 2|2:29.32|2|%dE i 1(2:31.64|[3|AH F&H 2:31.89| 4=k =& 2:35.53[5|/hE % 2:36.99() 6 [k #PER 2(2:41.33|| 7 [WREMRF 2[2:43.15|[8[{EEE =W 2[2:49.90
800m SXME Dkan =Tl 58 SXMES EAH ==tk Pl

05/13 | F %+ R TR ZE 2|5:04.81(2 %%ﬁ’l%otﬁ\ 5:05. 14| 3 |EEHZA 5:05.95| 4 [FA/NdE4E 2[5:06. 15| 5 |EM ¥#& 2|5:10.90| 6 3= =& 3[5:26.42|7|#@H #ZXE 2|5:34.37|8|F{E #Ex 2[5:35.57
1500m Hias J\BEeh Ak Dix o J\88 55 P Axd

05/13| %+ R T|#EL =k 1] 15.79 |2 |@%M B¥ 18.45 (|3 |FA &M 19.47 [|4|:ZM(EDE 22.73 |5 |E8 #2 23. 41 THENRE 3| X I I e B EE I E S E L
100mH[0. 762m/8. Om|-0. 2| |SER FEATC SEEH EHFE EARD EAG ElEd R

05/13| % F 115%8 =EK 3] mdl (2L EF m40 | 3[hEF i imib [[4[;FL #&7 ml5 |[5[#&H BE m10
Em Bk sdeen EAS KYE HR ZEER BEFE

05/13| % F T|FW % 3| 2m60
A&k

05/13|p &z F 1[RT FE 2[ 4m79 |[2|BEAXAKRIE 4m69 [3[NIS 4mb3 || 4|RTH RE am27 ||5[ME #E an25e2.3) |6 [t YT 1] 4mib [[7|ILiE HE T[m7¢22|8]FIL E& 3| 3m92
1= B SHMEH +0.7 JAdk e +0. 9 thlych +1.2 thyljch +1.0 i amsci 9| |EEFEG +1.6 BEd amisc0.9)| | AR +1.7




No.2

b5 ws - T4—)L FHEE - B - RN - RE - RRE
il B =— ka1 say  ENE BEC1-THREBEETEAS =— [ 23310003 | % 4@ EIE Ez FE B
RIS — M EEN BRELHREGS Bitks RFHERLEEFRS =—F| 312030 TERECRE B
: V| ] = F B e P BikE % = F B — o ] E % o P BLE & e ] BiLE — o W] BE % .
A+ fEH sy |l FE k2 I R, K v LR, FERE I LR, ALgR i [ FERE v R Rk I L, ERE v LR, Rk
05/13|pFEZF 1|X¥ A 2| 8m81 [[2|EL A 8m68 |3 |=4E TER 8m30 [ 4|ILA (T4 8m03 [[5|RHE *#HF¥ m25 [6|=HE R 1| b5m/7
BnIE[2 721ke] i Eh FH BB E or A g
05/13| & FmiE 1|k @Bk 3| 19585 |[ 2| &K 1751& (| 3[/hek F7 1388 [[4|HIR f&# 13891 |5+ 5 B 1148 %=
= ES AEFD G AL 2 £Eh
05/13| & FMiE | iRRE 1|mgE &K 3| 17.76 2| &K 18.44 [[3|/hek F7y 18.67 |4 |7 1&E# 19.02 |[5 &8 BE 19. 66
100mH[0. 762m/8. Om|+0. 6| [FHFH = HETC EAS =t
05/13| & FmiE 1| &K 3| 1md8 (2| @B m39 [[3]/h#k F7y m30 [[4[&F &# mi8 [[5[|F 5 BE 1m06
E= Bk EEAET '8 fHETC EAH =t
05/13|ch 4 F Ui 1|5k ‘& 3] 9mb7 [[2|REFE &R 6mb1 (13| &K 6mo5 [ 4|F & B 5m69 | 5[|/h#k F7h 5m01
BAIE[2 721k B8 EAd BEF mEh TG
05/13|hF & FMmiE | iRBE 15N #B& 3] 30.59 [[2[ud &K 30.71 |[3|F B B 31.59 [[4|&FE t&# 31.80 [|5[/hk F73 32.06
200m -1.8 [H8 = 7= EAD FETC
05/13|/NEIEBF | RES 1|Ea& &ZE 3| 15.90 [[2|@EAX B 16.31 |[3|faiE Z=BH 16.51 [[4[|&E ;X 16.72 |[[5[ILiE 1&&E 16.97 [[6 kA EE 3| 16.98 (7| TF 23 17.19 |[ 7]k FRZ 17.19
100m 0.2 [KYSH =EfAC KYS HR TAY-bKF =EAAC ALlfEE AdkSS LSS
05/13|/NFAERF | RIS 1|1/AE %X 4] 15.27 |[2[3# EEE) 15.91 [[3])de  1&4& 15.93 [4|RE HdH 16.09 [[5|#&dE X 16.11 [[6|FHE B®K 4| 16.15 || 7|&EH BEE 16.18 [[8 | F&iE 16.22
100m —1.2 |KYE HETC TFE# SMTC Jr SMTC Jr TFEXF 125 12 AAC SMTC Jr.
05/13|/NESERF | RIS 1|18 EE 5| 14.23 | 2|35k&X BfE 14.67 | 3 |hnik E 14.70 (4| = 15.61 |[5| L8 M 15.76 |[ 6 ]|f8A B 5| 15.83 [[7|=# 4% 15.90 [[8|Fm &3} 16. 42
100m 0. 51 |KYE TAY-bKF HETC BHERY 3{32 XIlfE ;4SS =8HAC KFRELITT
05/13|/NE6ERF | RIS 1| %X 6| 13.65 [|[2]:Eith Bx 13.70 3|l #FHK 14.11 [4|BB EX 14.30 [[5|KRTF &N 14.42 [[6|F/EE 154% 6| 14.44 |7|EE HE 14.74 |8 |&mMmZXED 14.81
100m —1.00 |SMTC Jr. IFes KFRELITT A[4ESS HETC ;4SS KYS HR KFRELITT
05/13|/NEEBF R 11D 1|HhEHEAREA 5)2:36.02(2|3hA BfE 2:36.38| 3|mmE AR 2:37.03[4 |21 BE 2:38.83|| 5L M 2:41.86[(6|[;EA 5% 6]2:44.20|7|BE %X 2:48.23|1 8| B IHEE 2:49.00
800m TAY-bRF TAY-bKF KFEELITT KYE AlifE KYEER KY 2 Hy KYE
05/13| /N2 B 7 T]iEth Bt 6|anc22|2|HE X 450 (|3[HEc EEF 6[mic2n|4]| LR BEX dmi1 |[[5|#H KT 6mac29)| 6| KE 6 3m97 |[7|i0gE  FH b|wBe2D||8|EE EF 6]m9¢2.9
EiE Bk TFES 24n70 (+0.6) A 4k SS +2. 0 KE157° /33166 (+0.7) ETC +1.0 a1k SS /33m88 (+1.2) KFREEITT +1.4 HEATC 2370 (+1.7) = 22140 (+0.4)
05/13|/NFEIF & F | iRBE TR mk=E 3| 17.33 [[2[@FE TR 17.68 |[3|H®F EHR 17.71 [4IR %% 18.01 |[5[dt#F * 18.29 [[6 (& Fi/y 3| 18.58 || 7[R BT 19.84 [[8|BH WS 20.00
100m -2.5 [BERY 3{12 KRCY 127 KRCY" 1-7 SAT4ESS KYE HY IYSePA KYE HR 125 4 AAC
05/13|/NFAFE & F | iRBE 1T+ OF1 4] 16.12 [[2[BE ¥ 16.51 [[3[AR ZEx 16.66 [[4|ILF *LZ 16.70 |5 [Pk #&TE 16.82 [[6 |E@E #&x% 4| 17.02 ||7|9#E H1E 17.21 | 8 [uA & 17.30
100m 19l [TFEs TFEE KYE SENVMELRDS SMTC Jr SMTC Jr. BHEY 3{32 X%H37
05/13|/NEDFZF | iRBE 1|Z=E B8 b| 14.69 [[2[ERIR Z‘K 14.72 [[3|ILE %A 15.42 || 4 |[fR AKX 15.56 |5 [E&ElR Z24k 15.62 |6 |[#8H #PHR 5| 15.85 || 7[#&IL ZF4E 15.87 [ 8 |BEREE < & 15.95
100m _1-0. 71 [KYE JAY-bKF == KYE LSS 125 4 AAC KYE Hy 3=
05/13|/NFE6F & F | iRBE 1T|He FE 6] 14.12 [[2|XK%E RE 14.49 |[3|3ATE  [HAD 14.60 |43l EfE 14.76 |[5 | B ®fs 14.91 |[ 6 |dt#F fE 6] 14.95 | 7T[BE< 5H& 15.14
100m 1.2 [5A7dess FEATC KYS ER TFERF KYE HY KYS ER TERF
05/13|/hFE%F AB 0D 1|EME4<ZE 5[2:35.89([2["m %E 2:36.22|3|& EE 2:38.60[ 4 [ &MY 2:43.81| 5|8 ®EAfR 2:45. 73| 6 [t = 6|2:47.23| 7|dLA e 2:47. 23| 8 | RAIIEZR 2:48.18
800m TFEs AFH77 AFHI7 ;4L Ss KYE HY TFRF KYE HY TEXF
05/13|/hF % F T{eg #A 6] 4m12 [[2[hAR B 4mo8 |[3|AR AE 3m98 |[4|#EE FER 3m87 ||5|# EFEH 3m81 || 6|FEM RER 6 3mddb (7[R B4M 3m38 | 8|AE ¥ 3m37
02 Bk FEIC +1.5 ALlfEE +1.4 A4k SS +1.8 125 4 AAC +1.5 TEXF +0.8 KYS ER +1.2 TERF +0. 6 TFEs +1.2
arvFavay HH [E ENS S C %A % JEL [ JEUHm/ sec
5/13 9:00 = 20.0 64 Jiic) 0.5
5/13 10:00 = 20.0 64 ] 0.6
5/13 11:00 55l 19.0 72 it} 0.4
5/13 12:00 i 18.0 80 R 1.0
5/13 13:00 55l 16.0 89 E[ES 1.7
5/13 14:00 [i5l 18.0 90 ] 0.9
5/13 15:00 55l 14.0 90 R 0.2
5/13 16:00 i 14.0 90 R 1.2




